Balancing Eg' uations i?éce - Solutions .

1) 1CHe+50;33C0,+4H,0
2)  2AI+1FeN:>2AN+3Fe
3d) 2Na+1Cl->2NaCl
4) zﬁzoz—:»guzonog
5  1CsHi0s+80,>EH0+8 c::)2
gy -'5 HiO #7 C0; 51 iy +9 0z
7)  2NaClO;»2NaCl+30, o
8) 4 (NH:)PO,+3 Pb(NOs) > 1 Pba(P04)4 + 12 HH4NOs
8)  2BFs+3LE805> 1 BEO0gs + & LIF |
10) 4 CiHyr + 450, > 28 CO, + 34 H;0
1) 3CaCO;+2HPO. > 1 CagfPOu)2+ 3 HCOs -
12) 8AgS>16Ag+1Ss -
13) 3 KBr+1 Fe(OH) > 3 KOH + 1 FeBra
14) -~ 2.KNO3 # 1 HiCOs > 1 KoCOs + 2 HNO:
' 15) " 1 Pb(OH). + 2 Cu0 'l>,..1_ PbO2 + 4 CuOH -
18) 1 c;mog)z +1 (NH4)2$D4 > 1 CrS04 + 2 NHNO;
j?j' S KOH + 1 Cog{PCL;)g 3 2K:P0, +3 CD(OH)z |
18) 3 Sn(NOy)s + 1 PiuNs > 1 Snghiy + ZPING,) .
19) | 1BaBro+8 Hl;!@s - 2 B(NOs)s + 8 HBr .
20) 3ZnS+2 AP - 12ZnsP;+1AkSs |
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